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Wherever required the candidate may make suitable assumptions and state them clearly in the answer.
Please (i) Answer all bits of a question at one place
(ii) Open a new page for answer to a new question.
PART - A (25 Marks)

(a)

)

(i)

(iii)

Ineach of the cases given below one out of four answers is correct. Indicate the correct answer (=
I mark) and give workings/reasons briefly in support of your answer (= | mark)

MS ANUSIKTA, an officer of the Government of Bihar draws Rs. 30,000 per month as basic pay.
The Government has provided her a vent-free un-furnished flat whose market rent is Rs. 9000 per
month. If licence fee of the flat, as per the Government rules, is Rs. 1500 per month, the value of the
perquisite in respect of rent free un-furnished flat for the assessment year 2010-11 will be.

A. Rs. 18000

B. Rs. 36000

C. Rs. 108000

D.  Insufficient Information.

MR. PETER, a Consulting engineer, raised a bill of Rs. 198540 (including Service Tax) on his client
for Consultancy Services rendered by him in the month of January 2010. If a partial payment of Rs.
154420 is received by M, Peter, in the month of March 2010 what would be the amount of Service
Tax payable by him for the quarter ending March 31,2010 ?

A. Rs. 18,540
B. Rs.21,840
C. Rs. 14,420

D. None of the above.

ALIANCE LTD reported sales turnover of Rs. 18,30,000 during the quarter ended March, 31,
2010. This includes Excise duty of Rs. 1,50,000 and deposit for returnable containers for Rs. 3,00,000.
Sales tax was not included separately in the Sales Invoice. If the applicable CST rate is 2%, the

amount of CST payable will be.
A. Rs. 30,000

B. Rs.33,600

C. Rs.36,600

D. Insufficient data
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OnJune 15,2009, RONAK LTD, a manufacturer of Car air Conditioners, installed a new machine
for Rs. 6,00,000 due to which the installed capacity has increased by 20%. If the new machine falls
in the block of assets for which the depreciation is 40%, the amount of depreciation Ronak Ltd can
claim for the assessment year 2010-11 on the new machine will be :

A. Rs.2,40,000

B. Rs.3,60,000

C. Rs. 3,90,000

D. None of the above

COMFORT LTD, a manufacturer sells goods to buyers at Rs. 250 per piece. This price is inclusive
of State VAT and Central excise duty. State VAT rate is 4% . What would be the excise duty payable

per piece, if excise duty rate is 16% plus education cess and SAH education Cess as applicable ?
(rounded up to nearest Rupee)

A. Rs.35.00

B. Rs.34.00

C. Rs.33.00

D. None of the above. 2 %¥5=1D

Fill in the blanks in the following sentences with the most appropriate words :

Bonus payable under Payment of Bonus Act shall be paid within a period of (Eight/
Six) months from the closure of Accounting year (-Section -19)

Provision of payment of excise duty on the basis of production capacity (does not/
does) apply to EOU.

SSI units which produces or manufactures excisable goods and eligible for concession is required
underrule 12 (1) of Central Excise Rules to file quarterly return in Form (ER-3/ER-
1) by 20th of next month of the quarter.

Unabsorbed depreciation which could not be set off in the same assessment year can be carried

forward for (8 years/indefinitely).

Waste & Scrap can be goods but dutiable only if manufactured and mentioned in the

Baggage includes unaccompanised baggage but does not include as per section 2(3) of
the Customs Act 1975.

E-Payment of Service Tax is mandatory where the Service Tax paid in the immediate preceding year
is not less than (Rs. 50 lakhs/Rs. 25 lakhs).

The Audit Commitee shall meet at least (twice/thrice) a year.

In case of death resulting from injury, minimum compensation is Rs. (100,000/80,000)

under the Workmen’s Compensation Act 1923.
1x9 = 9




































